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(U] WD UT ATHGIS DT SHTYTED HT-THT Molecular
numerical properties in hindi 3{U] J&d U

310] T T[0T f38 Hgd § Molecular numerical properties in hindi (3{0] ¥ T[0T relative
depression of vapor pressure aTSIGTd &1 A3 3G9 in hindi TRHTST 1§ ? I g1a &
3MUTefH ST o T THSId Bl ?

3{U] {WH [T (Molecular numerical properties) :

forft faeaa & 9 Hifaes T o T8 SmaH B IUfRYT facd & ol ot e R AR ard g 7
B TP UHA TR, I 3] TS 01 Hgd g |

phEEeE]

1. AIYGIS &1 TUTEP HaTH(relative depression of vapor pressure)

2. YIS T IqT (Upgradation in Boiling Point)

3. i (Freezing point)

4. IRTHRUT qId (osmotic pressure)

5. ATSUGIE BT SMTUfE® a=aH (V apor pressure relative depression)

4 ol Y faemass & srara=iid faca 9 SiTaT g df ST aT™ a1e &H gl oidT 8, 3ridfd

faerg &1 aTeTs U faaraed 3 HH gidl ¢, 34 dTad # 3/aTH- Had g |
3 A SHAMwRite fqeid god faeram & forg ke faw fear , forgd orfar

oTd et g faemares & sramsa=ite faera 9 ST & of arIGrd &1 MTuféids &= faag & A
3P R BT g

A=A faed gRT Y A & arsuerd | Sa-H- 9T Y[S fadras o arwiard & Surd —
&1 ATWIET BT TUfEE ST Hgd B |

0 Y& faerass 9 faqa & arvere s PO dYT P, g1 31k
JMICTd &l TUfe® 3fgFHT = (P,°— P, ) / P,°
A7 foeft faera= # faamaes g faca & Aiell & T $Hw n, I n, B

TUT 3P HIA Y HA: X, T X, § dl A & Hid

X;= Ny /1My 4Ny
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(P°—P;)/P°=n,/n; s m,

g faerm & fT n, 5. n, =n,

(PO P, )/ P0= 1, /1y

I 0, =W/ M,

n, =W, /M,

31

(PLO—P, )/ P = W,M, /WM,

TY 1: 39 PG A & SarwRiid facd o Sl § af S9! arard & g1 offdl § 31 ?

IR : o forddlt Y[ faamaes & srarsa=ita facrg gian SiraT § < 9de W o (faarae) & Sfuai
TR HH I Sl g ORIy 9T &1 §+7cl! § 31d: I g1a Ht &9 81 5111 8 31d: faaas &1 arwere
< faas S FH g g |

U 2 : 9o UTH 9 H 18 TTH (AT faerd g a1 afe fadrae g faqad & araee HH: 200
d 150 MM g q SaTSI=Ad faad &1 SIUHR 1 |

3R : (P10_ P, )/P1O = W2M1/W1M2

EIB\TVPlo = 200mm

P, =150mm

W, =90gm

M, = 18gm

W, =18gm

M, = ??

(200-150) / 200 = (18 x18 ) /(M,x 90)

M,=72/5=14.4

https://www.evidya?ﬁtzhi.in





